

AMATEUR BOWLERS TOUR

PO BOX 72608 - ROSELLE, IL 60172 - (630) 295-8551 www.abtchicagoland.com

				MEGA EV	ENT XII	
LAKESIDE LANES					SEPTEM	IBER 8 - 9, 2012
CLASSIC	PRIZ	ZE FUNI)		TOURNAMENT FINANCIA	AL REPORT
82 Classic Entries	@	\$33.00	=	\$2,706.00	Classic Prize Fund	\$6,155.00
5 On Site Entries	@	\$5.00	=	\$25.00	Masters Prize Fund	\$3,615.00
Bonanza Progressive				\$1,200.00		
Bonus Bucks				\$510.00	Optional Sweepers Paid	\$1,608.00
Mega Funds				\$1,560.00	Brackets Paid	\$1,720.00
Added By ABT				\$154.00	Optional Side Pots Paid	\$501.00
Total Prize Fund				\$6,155.00	Hdcp 315/Scratch 300 Pots Paid	\$0.00
MASTERS	PRI	ZE FUN	D		Clean Pot Paid	\$0.00
43 Masters Entries	@	\$43.00	=	\$1,849.00	Promotions	\$490.00
2 On Site Entries	@	\$5.00	=	\$10.00	"Bye" Bonus	\$50.00
Bonanza Progressive				\$720.00	Practice Squad Entries	\$0.00
Bonus Bucks				\$260.00	Champions Shirts	\$150.00
Mega Funds				\$585.00		
Added By ABT				\$191.00		
Total Prize Fund				\$3,615.00	Total Paid Out This Event	\$14,289.00
					STORM 4112	ster



THE BOWLER'S COMPANY

Susan Schlink Age 35 Titles 6

Susan works in sales for Corporate Safe. She is married to Mark. Susan has been bowling for 21 years and bowls league at Oak Forest Bowl. She has a high game of 279 and a high series of 706 to her credit. Susan was throwing a Roto Grip Sonic X drilled my Jim Williams at Reaction Pro Shop. In addition to bowling Susan enjoys gardening and gambling. She wanted to thank Jim Williams, her bowling mentor, her husband and coach Mark. She also thanked the ABT and everyone that stayed to watch the finals. Susan plans to use her winnings for the ABT Fall Nationals, pay some bills, and treat her bowling coach to dinner. She concluded by dedicating her win to her mother.

MASTERS CHAMPION

Steve Greenspan Age 37 Titles 6

Steve is a Business Development Executive for the Corporate Division of Staples. His significant other is Shelly Rowland. Steve has been bowling for 5 years and bowls league at Arlington Lanes. He has a high game of 300 and a high series of 806 to his credit. Steve was throwing a STORM Nano drilled by Jeff Daggett at Strike Zone Pro Shop inside BZ Mt Prospect. In addition to bowling Steve enjoys golf. He wanted to thank Shelly for all of her support, all of the people who stayed to watch the match, the ABT staff, and Lakeside for hosting the tournament. Steve plans to use his winnings for the ABT Fall Nationals. Steve wanted to dedicate this win to his late father, Edwin Greenspan.

TOURNAMENT NOTES

Thanks to this weekend's volunteers: Linda Scaletta, Mike Martenson Sr, Dale Warfel, Eric Warfel, Gordon Brown, and Vince Mayweather.

Congratulations to our raffle winners: Bob Switzer who won a free entry into an upcoming event and Sharon Irby who won the "Pick Your Ball" raffle and gets her choice of any Storm bowling ball.

TOTAL	PAID OUT BY	CHICAGOLAND B	RANCH
2012	\$491,388.65	Since November 1991	\$19,149,755.70

		CL	ASSI	C FINALS	RESULTS	S	
PLACE	FINALIST	GMS	SCORE			BONUS BUCKS	TOTAL PRIZE
1	Susan Schlink	2	424	\$700.00		\$128.00	\$2,189.00
	<u> </u>		l	MEGA>	\$320.00		. ,
2	James Sistrunk	2	416	\$350.00	\$220.00	\$255.00	\$967.00
	<u> </u>		l	MEGA>	\$80.00	\$62.00	
T3	Scott Pollack	2	416	\$125.00	•	\$76.00	\$261.00
				MEGA>		\$60.00	·
T3	Don Hall	2	393	\$125.00		\$51.00	\$235.00
	•	•	1	MEGA>		\$59.00	
T5	Frank Marack Jr	1	196	\$100.00			\$157.00
		<u>.</u>	I	MEGA>		\$57.00	·
T5	Coleman Evans	1	193	\$100.00		·	\$158.00
				MEGA>		\$58.00	
				FINALS R	ESULTS		
	Round 1: Pollack de	f. Marack 21	15-196: Ha			nlink def. Pollack 2	16-201:
	Sistrunk def. Hall 20						/
	2.00.0.0			SFINALS		S	
PLACE	FINALIST		SCORE			BONUS BUCKS	TOTAL PRIZE
1	Steve Greenspan	2	517	\$700.00		\$130.00	\$1,681.00
	<u> </u>		<u>l</u>	MEGA>	\$80.00		, ,
2	Jeff Dimmitt	3	750	\$350.00	•		\$397.00
	1			MEGA>		\$47.00	
T3	Dave Palojarvi Jr	2	428	\$125.00		\$26.00	\$197.00
				MEGA>		\$46.00	7
T3	Alan Mendoza	1	204	\$125.00		\$65.00	\$240.00
				MEGA>		\$50.00	7-10100
T5	Jim Peach	1	211	\$100.00		\$39.00	\$187.00
				MEGA>		\$48.00	,
T5	Willie Rios Jr	1	194	\$100.00		Ţ 10100	\$149.00
				MEGA>		\$49.00	7 - 10 10 0
				FINALS R	FSULTS	Ψ .5.66	
	Round 1: Palojarvi d	lef Rios 207	7-194· Dim			Greensnan def Pa	loiarvi 254-221·
	Dimmitt def. Mendo						10jui vi 23 i 221,
				SERIES	PREP		IGAME
Classic		Nancy Smith		\$55.00	287	Ron Harast	\$55.00
Masters		Joe Go		\$65.00		Mike Zanazaro	\$65.00
riastei S	0/0	JOE GC		CUT SCOR		ויוותכ במוומבמוט	φυσ.υυ
Classic	Caturday	+40 Su			LJ	Gold Ticket	Loroy Malkor In
Masters	Saturday Saturday		nday nday				Leroy Walker Jr Iike Martenson Sr
masters	Jacurudy	⊤ວວ ວ u		DICAP 31	E DOT	GOIU FICKEL	יוועב ויומו נכווטטוו או
This F	mak Nai:		пап	DICAP 31	5 PUI		
This Eve		A !!	40FC	1 200	#242 265 ±5	14 340 +005	245 10-6
Next Eve	ent Total \$1,712	Avaii	\$856			14 310 \$685	315 \$856
			SCR	RATCH 30	0 701		
This Eve		T		T = -	1 1 :		
Next Eve	ent Total \$1,104	Avail	\$552		\$221 279 \$3	31 325 \$442	300 \$552
				CLEAN PO) T		
	ent No winners						
Next Eve	ent Total Pot	\$7,717	Available	e \$3,859 /	X \$772 X /	\$1,544 XX - \$2,3	15 X X X \$3,859

				CL	ASS	IC :	SEMIF	IN	A L	RES	ULTS				
PLACE	SCORE	SEMIFI	NALIST		REG PRZ		TOT PRIZE	PLACE		SEMIFIN		HDCP	REG PRZ	MEGA	TOT PRIZE
1	+143	_	Sistrunk	40+3			*****	T13	+20		Marack	33+2	\$70.00		\$119.50
2	+134	Susan	Schlink	27			*****	T13	+20	Gene S	urmo	33+2	\$70.00		\$119.50
3	+104	Scott F	Pollack	41+1			*****	15	+19	Joe Jol	nnson	38+3	\$70.00	\$48.00	\$118.00
4	+90	Don Ha	all	28+2			*****	16	+15	Terry C	Crafton	31		\$47.00	\$117.00
5	+76	Colema	an Evans	38+2			*****	17	+11	Wayne		31+2		\$46.00	\$116.00
6	+61	Frank I	Marack Jr	35+1			*****	18	+8	-	Culovitz	32+1	\$70.00	\$45.00	\$115.00
7	+56	Dave P	alojarvi Sr	29	\$75.00	\$56.00	\$131.00	19	+6	Ed Bro	wn	37+1	\$70.00	\$44.00	\$114.00
8	+52	Riff Ga	-	41+1	\$74.00	\$55.00	\$129.00	20	-9	Tammy	/ Brown	49+2	\$70.00	\$43.00	\$113.00
9	+48	Carlew	Milan	37+6	\$73.00	\$54.00	\$127.00	21	-16	Bob Sv	vitzer	52+5	\$70.00	\$42.00	\$112.00
10	+47	Wayne	Crumpton	31+2	\$72.00	\$53.00	\$125.00	22	-23	Leroy \	Walker Jr	35+2	\$70.00		\$111.00
11	+46	Tim Ell	is	30+6	\$71.00		\$71.00	23	-24	Jennife	er Meyer	36	\$70.00	\$40.00	\$110.00
12	+37	Dave G	Gallwitz	36+5	\$70.00	\$51.00	\$121.00	24	-46	Terry F	liggins Jr	31+3	\$70.00	\$39.00	\$109.00
PLACE	SCORE	SEMIFII	NALICT	M A HDCP	STE REG PRZ		S E M I	F I N PLACE	A L	R E S	ULTS	HDCP	REG PRZ	MECA	TOT PRIZE
					KEG PKZ	MEGA	******	_		_					
1	+205		Greenspan lendoza	16+1 23			*****	7 8	+73 +70		enson Sr	23	\$70.00	\$45.00	\$115.00
2 3	+116 +107	Willie I		23 21+2			*****	8 9	+70	Nestor	Crumpton	21+1 20+1	\$70.00		\$114.00 \$113.00
4	+97	Jim Pe		18			*****	9 10	+11	Ron Ha		23	\$70.00		
5	+97 +84	Jeff Di		20+1			*****	10	+11	Bobby		23 24+2	\$70.00	\$42.00	\$112.00 \$70.00
6	+80			18			*****	12	-22	-				¢40 00	
0	+00	Dave P	Palojarvi Jr	10			1010101010101	12	-22	v May	veather	24	\$70.00	\$40.00	\$110.00
					SA	TUI	RDAY	SW	EEF	PERS	5				
							HANDICAL								
				40) Entri	es	@		\$12.00) =	\$480.00				
				Added	I By ABT	Chicag	goland				\$5.00				
				Total	Prize F	und					\$485.00				
PLAC	CE S	CORE	BOWLER				PRIZE	PLAC	CE S	CORE	BOWLER				PRIZE
1		487	Wayne Ma	alec			\$193.00	5		456	Dave Gally	vitz			\$28.00
2		476	Steve Gre	enspar	1		\$97.00	T6		454	Dave Gally	vitz			\$26.50
3		458	Scott Polla	•			\$55.00	T6		454	Ed Brown				\$26.50
4		457	Susan Sch				\$29.00	8		453	Joe Johnso	n			\$25.00
'		137	Susuii Sci	IIII IIX			Ψ23.00	O		155	300 3011130	<i>7</i> 11			Ψ23.00
							SCRA	ATCH							
				8	B Entri	es	@		\$12.00) =	\$96.00				
				Added	By ABT	Chicac	noland		•		\$0.00				
					Prize F		,				\$96.00				
PLAC	CE S	CORE	BOWLER				PRIZE	PLAC	CE S	CORE	BOWLER				PRIZE
1		611	Steve Gre	enspar	1		\$64.00			596	Rick Hara				\$32.00
				•			,								·
							SEN								
				12			@		\$12.00) =	\$144.00				
					! Entrid		_		\$12.00) =	\$144.00 \$0.00				
				Added		Chicag	_		\$12.00) =					
PLAC	CE S	CORE	BOWLER	Added Total	I By ABT	Chicag	_	PLAG	•) = CORE	\$0.00				PRIZE
PLAC	CE S	CORE 662	BOWLER Wayne Ma	Added Total	I By ABT	Chicag	goland		•		\$0.00 \$144.00	vitz			PRIZE \$48.00

		30	NDAY S HANDICAP				
		47 Entries	(a)		2.00 =	\$564.00	
		Added By ABT Ch	-	7		\$5.00	
		Total Prize Fund	•			\$569.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	557	Steve Greenspan	\$222.00	T5	495	James Sistrunk	\$28.50
2	506	Willie Rios Jr	\$111.00	7	482	Vince Mayweather	\$27.00
3	504	Jim Peach	\$66.00	8	473	Dave Palojarvi Jr	\$26.00
4	496	Scott Pollack	\$30.00	9	472	Coleman Evans	\$25.00
T5	495	Terry Higgins Jr	\$28.50				
			SCRA	тсн			
		8 Entries	@	\$12	.00 =	\$96.00	
		Added By ABT Ch	icagoland			\$0.00	
		Total Prize Fund	d			\$96.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	754	Steve Greenspan	\$64.00	2	643	Jim Peach	\$32.00
			SEN	IOR			
		19 Entries	@	\$12	00 =	\$228.00	
		Added By ABT Ch	icagoland			\$0.00	
		Total Prize Fund	d			\$228.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	673	Mike Martenson Sr	\$112.00	3	638	George Ellison	\$35.00
	656	Dave Palojarvi Sr	\$56.00	4	637	Dave Gallwitz	\$25.00